Math 528 Exam 2 Name:

1. (20) 1) Determine all values of |( — 1)¢|.
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i} Determine all values z such that the real part of cos z is 0.
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2. (20) Find a harmonic conjugate of ¥ + €® cos ¥.
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3. (20) i) Let T" be the circle of radius 1 centered at the origin, and traversed once in the
counterclockwise direction. Evaluate
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ii) Let L be the line segment from 3 + 34 to 1 +i. Writing your answer in a + b form
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4. (20) i) Let I be the ellipse z?/4+y? = 1 traversed once in the countc rclockwise d1rect10n
Evaluate
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5. (20) Find the radii of convergence of the following power series.
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